(Fitik= 4)

& H OE W
CIEEL D
SHUE 4 BS ' [ & % %]
(B4 A
LTt SR HRIME (ELDORIRY
£A8 |snm| RMERE - Ef R it
wE ' | pEang | aer | smx | memss | ZURY | weson | wenan | wsar | osex | s
R4.4.1| 1 ;gmaﬁ #1533 EHAT.000FT X 768 | 70 090 50{ 38,000 0 0 0 0 0 0 0 0 o| 38 000
RA.4.7| 2 |ar—nmo it GBE®RS) 3,708 50' 1,899 0 0 0 0 0 0 0 o| 1,809 q
RA.4.11| 3 |GEHCCAREM 485 3, 400 1oo| 3, 400 0 0 0 0 0 of 3,400 0 0 ol
Re.4.11| 4 |mme (R 4BD 4, 000 100| 4,000 0 0 0 0 0 of 4,000 0 0 ol
Re.4.11 5 |wipnec (sssim 4B 3, 400 100| 3, 400 0 0 0 0 0 0| 3,400 0 0 0’
RA.411| 6 |®wrwAvy EURRMBE EHR 660 100] 60 0 0 0 0 0 o| 660 0 0 0
| Hy—2ft 4R%. ' ' '
Re.4. 11 7 |Emn—XsoL@sssocens=@| 123,800 5ol 61,900 61,900 0 0 0 0 0 0 0 0 0
Y 67, 100M®3 561, 900R & F 3
FU R
Rea 11| 8 [ZaViR o 1 10.0um 21.273| 50l 10.636] 10,636 0 0 0 0 0 0 0 0 0
Re.4.11] 9 |[wwmmsms 2A® 3,529 50| 1,764 0 0 0 0 0 0 0 ol 1,764 0
' HER
Re.4.11] 10 | (BREzicoLcnasmeoisab | 5560 100] 5.560] 5. 560 0 0 0 0 0 0 0 0 0
Je " 2m28)
RA.4. 11| 12 {miEte (e - SoRmmamE 2898) | 5,560 100| 5,560 5,560 0 0 0 0 0 0 0 0 0
R4, 4.11| 13 [BER 5,560 100] 5.560] 5.560 0 0 0 0 0 0 0 0 0
-4 (ERAkE DT L bt 28108) : ' :
|R4.4.12 14 |SEmkE - TAER GHM 1.526] s0] 763 0 0 0 0 0 0 of 763 0 q
|R4.4.16 15 |&msy—FLmsy R A~285) 8.400| 100] 8, 400 0 0 0 0 0 o| 8 400 0 0 oF
|R4.4.z1 16 |BBEFBSR GHM) 32,157| 50| 16.078 0 0 0 0 0 0 o| 16,078 0 0
ra. 2.22| 17 |smmmmmar (g2s) t.100| so]  s50 0 0 of o 0 0 ol 550 0 0
R4.4.26| 18 |mss- =v FEAE GAM 8,940 50| 4. 474 0 0 0 0 0 0 0 o| 4474 0
Re.4.27| 10 |ae—su—=i 4AM 15.120| 5ol 7.560 0 0 0 0 0 o| 0 o| 7.560 0
At 323, 792 180, 164] 89, 216 0 0 0 0 o| 19,860] 17,391| 15.697] 38,000




(=t 4)

T H OB W
[BEHEER]
SH4E 5 B4 [ A & %]
(B4z : [
‘ Wi EFR| AR (ELONR
50 | #nm RMERE - Wik KU BEuR
wE _ o mrann | ek | zmw [ memww | SORE | oo | wuo | wmae | osmr | e
R4.5.2| 1 ?g”’mﬁ*ﬁ“ﬁﬁ’m&m‘m *758% | 75 000 50} 37500 0 0 0 0 0 0 o| 37,500
R4.5.9] 2 |atd—hor i WAHEKS) 1,430 50 715 0 0 0 0 0 0 1157 0
R4.5.9] 3 |BISRTHSENRIME (B3SHET, 000H) 11,0001 50 i 5, 500 0] 0 0 0 0 0 5, 500 0
'|R4..5. 10| 4 [P (mEHRE 584) 3, 400 100 3. 400 0 0 0 0 3. 400 0 0 0
|R4. 5101 5 [#H/L (B 5RA%S) 4, 000 100 4,000 0 0 0 0 4, 000 ¢ 0, 0
|R4. . 101 6 [smAe (FRFEHM SA9) 3, 400 ‘ 100 3, 400 0 0 0 0 3, 400 0 0 0
|R4. 5101 7 | b HUUEDRAMNBR MR 660 10’0 660 0 0 0 0 660 0 0 0
IR4. 5.10| 8 |&y—2{% 6AH 134,200 50 67,100 47,100 0 ¢ 0 0 0 0 0
HYy R ' g . -
IR4.5. 10 9 |3/20 10,756M 3/29 9,464M 31,506 650 15, 753] 15, 753 0 v 0} 0 0 0 0
i 4/9 11, 286 : :
IR4.5.10| 10 |He¥REEHEAY QA 3. 811 50 1,905 0 0} 0 0 0 0 1, 8056 0
Ra.5. 10| 11 |[EEM . 5,580] 100 5.580] 5,580 0 0 0 0 0 0 0
-5 (FEEBROITsEDY 3H108) : - 58 |
L '
R4.5.10| 12 | (kFEitk&: ORERXHS IR17TA~18 5,560 100 5, 560 5, 560 ¢ 0 0 0 0 0 0
: B) 3/16%kkk. 3/181HER
s
R4.5. 101 13 | (RiFAGE L OBRRIRE 3AIBE~18] 16,5001 100 16, 500§ 16, 500 0 0 0 ] 0l 0 0
a) 3/16 - 1781 s '
R4.5.16] 14 {v zSiéﬁ;ﬁH (RASFE4H ~REEEIA 43} 3, 800 1001 3, 800 0 0 0 t] 3, 800 7 0 0 OI
R4.5.17] 15 |WIEFR/AKE - FKRIE (484 1,526 50' 763 0 0 0 0 0 763_‘ 0 0|
iB4. 5.24] 16 [EHEAESRK GAD 27,481 50| 1 1{240' 0 0 0 0 of 11,240 0 OF
|R4. 5.26| 17 |REE- xv MERH 4B 8,959| gol 4, 479| of 0 0 of 0 o| 4 479 0




(FfTHR4)

& & Ik
(BBhRER]
4L 5 RS [ B * %]
_ (Bf: M)
RiE EHE HATRE (FELORIR)
£AR |wma| KON - R 8 EEEHX
il (56> Tomzann | msn | cmm | cecex | ERRX O ogupon | wnm | semr | osmr [ oA
R4.5.211 18 |aE—@Y—2ft (BBH) 15,120). 50 7,560 0 0 0 0 0 0| 7,560 0
Ax 347, 933 195, 415] 110, 493 0 0 0] 15,260 12,003 20,158 37,500




(iFfd#zt 4)

= § Kk W

CELESD)

SH4E 6 55 % B % %]
(Hifsf - A1)

R RTE RS (RUORR)
£A8 |wm= RERGHE - # HHH Bamont ‘
ol (96 MEFER | TER aum | memem | FAA0 | wupwg [ wsmax | smmr | e AR

[Re.5.20| 1 |wBEmmmER (F2E) 1,100} 50| 550 0 0 of 0 o| 560 0 of
REG. 1| 2 |Wommmsss(sAsnmetooom x7essmn | 76,0000 50| 38,000 0 of o0 0 0 0 o| 3. 000l
R&6.6{ 3 |aE—nmy it GAERS) 4,151 50| 2.075 0 0 0 0 0 of 207 q
RIE.7| 4 |BBERTULE—1LoR 1,860 50| 930 0 0 0 0 of of 930 ol
R46.T| 5 [swors—np 1,560 50| 780 0 0 0 0 0 ol 780 ol
REG.I| 6 |Z7anst  comsyHam) o8| so| 490 0 0 0 0 0 ol 490 ol
[ec10] 7 |Emeccammm sms 3,400] 100] 3,400 0 0 0 o| 3,400 0 0 ol.
|R4.6.10 8 |mm (me 6AM 4,000 100 4.000 0 0 0 o| 4,000 0 0 ol
|R4.6.10 9 |smasc (HTEEE 6 3,400} 100] 3,400 0 0 0 o| 3,400 0 0 0|
|R4.s.10 10 [hw beHSY ESARMME B g6o| 100] 660 0 0 0 ol 60 0 0 of
|R4.s.10 11 |my—ze 685 134,2000 50| 67,100] 67, t00 0 0 0 0 0 0 of
|R4.6.10 12 ‘ﬂi‘;"{’]f’gmﬂ 's/6 11,5076 23,497 50| 11.748] 11,748 0 0 0 0 0 0 0
lras.10] 13 [wwmmenn wam 3,575 so| 1,787 0 0 0 0 0 o| 1,787 0
[Ra.4.7] 14 [EEK (wnxtemmiirsabe 488 | g 100 100f 8, 100] 8. 100 0 0 0 0 0 0 0
[fe-5.10] 15 FR (MAXBERRLTSELE ATH | 5 900 100] 6,720 5,720 0 0 0 K 0 0 0
IR4.6.10 16 W&t (RAMBS 1A22R) 5.560 100 5,560 5.560 0 0 0 0 0 0 0
IR4.6. 14 17 |®BEAGE - FAER GAN 1,526 5o| 763 0 0 ol. 0 o| 763 0 0
re.6.17] 18 [smmamman wae 1,100 5o| 550| 0 0 0 0 o| 550 of 0
R4.6.21| 19 |mmmERR (6AH) 23,932 50| 11, 966 0 0 0 0 o| 11,966 ol 0




(FEER4)

= & & %
[BEBRER]
®HAE 6 59 (% B # %]
(B4F - D
- ERRE (EAONLY .
zAE |%m= RASMBHIG - iR
L BEFRER AR
R4.6.27 20 |B:3 - v MMERAH GAD 0 0 0
R4.6.27] 21 3-5*1&')-21’(‘. (684) 0 0
At 98, 228 0 38, 000




(FfreEt4)

2 5 K %W
(BmEE®]
SHUE 7 A% [ B % %]
(BAE: M)
HunE EAE tHERE (HLUOAR
%58 |wnm RUEREHE - 58 T §*§”§
w5 (98) | pmen | wun amn | mmser | SO | wnnne | weman | ssme | sER AR
R4.7.1 1gmﬁ*ﬁ@%)ﬁ*&‘-“”m”ﬁ 80,000 50 | 20, 000 0 0 0 0 0 0 ol 40,000
re.7.5| 2 [ae—ams rit GBHRS 2,191 50 | 1,095 0 0 0 0 0 ol 1.095 0
Re.7.8| 3 |EAPHRAR (i, KoL 3= 4 906 50 | 2,453 0 0 0 0 0 o| 2 453 0
[re.7.11) 4 |wmmneccammm 785 3,400| 100] 3,400 0 0 0 o| 2. 400 0 0 0
IR4. .11 5 |@wme (BE 1M 4,000 100| 4, oool ol 0 0 o| 4. 000 0 0 0
IR4.7.11 6 [HMR CEEER TES) 3,400] 100 | 3, 400f ol 0 0 o| 2 400 0 0 0
IR4.7.11 i hRADY EVHRIAMR R 660| 100 seol 0 0 of 0 660 0 0 0
-|R4.7.n' 8 lmy—zu 1A% 124.200| 50 | 67,100 67, 100 0 0 0 0 0 0 of
HYUY 4%
Ra.7.111 9 [5/16 9.075m /21 9,137/ - 41,239{ 50 | 20.619] 20 619 0 ol 0 0 0 0 ol
5/28 10,758F 6/10 12,260/ -

R4.7.11| 10 |mwmEsmy GAM 3,683 50 | 1,841 0 0 0 0 0 o 1,841 0
Ra.7.11 11 [BEFE (RHER. MAERSES SRS 5 60| 100| 5.500f 5560 0 0 0 0 0 0 0
Ra.7.11| 12 ’ggﬁf‘* (RE2. BADER SA20 5.580| 100] 5.580] 5,580 0 0 0 0 0 0 0
Re.7.11| 13 |&## GRERERKES 55258) 5,560 100] 5.560] 5,560 0 0 0 0 0 0 0
Ra.7.11| 14 E;m’t (mERKHAE L5 —WERDPOA] o 766] 100] 9.766] 9,766 0 0 0 0 0 0 0
iR4. 7.15| 15 |REHHABARK (FRED) 1,160 50 50| 0 0 0 0 0 580 0 0
|R4..7.16 16 |=@so— L@l rimiA~cas | 8,400 100] s, 4oq| 0 0 0 o| @ 400 0 0 o}
|R4.7.20 17 |EBmk - TAER 689) 1.526| 50 763 0 0 0 0 0 763 0 |
lre.7.22| 18 l=mmmar arm 28 441| 50 | 14.220 0 0 0 0 ol 14,220 0 ol
Ra.7. 26} 19 |®3E- = v romE GRS 9,184} 50 | 4 502 0 0 0 0 0 ol 4 592} o|




(Fftegsta)

% B OB W
[BHEETR]
SH4E 7 B [k @\ £ E]
(B4 M)
R o EREE (GEUDALD)
#AE |#mm RGHLRE - ik R BmzZn
&% (%6) nEwEk | TR amn | manew | IR0 | gupnm | wewan | wsEr | osEn AR
IR4.7.27| 20 [aE—y—2A{K (TED 15,120] 50 7,560 0 0 0 0 0 0 0 7,560 0
. KA L fERfHERES A
[Ra.7.27| 21 (GO A EmERRE 32,083| 90 | 28,874 0 o 28 874 0 0 0 0 0 0
R— bl — D ERM BT EEY .
IR4.7.28 7 22 (20224675 ~ 202344 5) 30, 250] 90 27,225 0 ol 27,225 0 0] 0 0 0 H |
IR4. 7.31| 23 |5~ Bt 767} 50 383 0 0 0 0 0] 0 0 383 OI
0 0 0 0 0 0 0 0 0 Ol
0 0 0 0| 0 0 0 0 0 o
At 431,076 263, 6311 114, 185 0} 56,099 0 0| 19,860] 15,563 17,924 40,000




(FftHazt 4)

= H & W
: [BEEER]
TH4E s RS [#% B * x]
(B4 : P9
A e T EARSY (ELUOAN)
#AE | %% RUSHRUAE - 58 | e EBEmR - :
*3 %) MEGER | GER | amR | memwR | Roan | s | wemar | ssmk | ossm | ass

R4.8.1| 1 |AHRRAKES(AS)EHE1.000M x 71656 | 71,000 50} 35,500 0 0 0 0 0 0 0 0 0] 35, 500'
|ras.2| 2 IREER2 v —ILR 7671 90 690 0 of 0 690 0 0 0 0 0 0|

R4.8.4| 3 |aE—hDw bt (TAMRST) 1,430 60 115 0 0 0 0 0 0 0 0 ' s Ol

EERAL -
R&. 8.7 4 e B 990{ 100 890 0 0 0 0 0 0 890 0 0 Ol
IR4. 8.10| 5 |WMK(WEFM 8AS) 3, 4001 100 3,400 0 0 0 0 0 0] 3,400 0 0 Ol
|R4. 8.10] 6 [%EMt (BF 8AHS) 4,0600] 100 4, 000' 0 0 0 0 0 0l 4,000 0 0 Ol
|R4. 8.10) 7 |WBA (HEEHEMEASD) '3,4000 100} 3, 400' 0 0 0 0 0 0 3,400 0 0 0
|R4. B.101 8 [FrvbeHPy EVHMBER MHER 6601 100 660 0 0 0 0 Y 0 660 '0- 0 0
IR4. 8.10| O |EY—Zit 8A% 134,200 50 | 67,100] 67,100 0 0 0 0 0 0 0 0 0
A ——
6/17 9,394M  6/22 11,550/

[re.s.10] 10 (3] 3.%4FE. 822 11 %00M 53,145\ 50§ 26,572| 26,572 0 0 0 0 0 0 0 0 0
7/11_ 11,5230

|R4. B.10[ 11 |H¥REEHFAH (6AM) 3,641 50| 1,820 0 0 0 0 0 0 0 0 1.820 0
B ' '

les.5. 10| 12 LA B HEE A 108) 420] 00|  420] 420 0 0 0 0 0 0 0 0 0
I8 A Bk R R ? ‘

[re-0.10] 14 |GEF gtz o) 21,000 90| 18900 of o o] 18,900 o0 o 0 0 0 0

|R4. 8.12[ 15 |RBFERAKR (FR&5) 1,160 50 580 0 0 0 0 0 0 0 580 0] 0

IR4. 8.22] 16 {®IEETKE - TRER TAM .1. 526 50 763 0 0 0 0 0 0 0 763 0 0

' — AFEMERBREEFER '

IR4.8.23| 17 (RAET B ~R5££4Fl) 25,000 1001 25,000 0 25,000 0 0 0 0 0 0 0 0
EiRRBR S \ T ,

R4.8.24] 18 [EDR| 17,50088 FiA313, 500/ 413,325) 90} 371,992 0 0 0l 311,992 0 Of 0 0 0 0
FMTA 16, 50058  $4AL9, 825M )




(R 4)

® B & *
[BHIRER]
HH4E 8RS (% @B ¥ x]
(Eif : [)
i : =y BRRE (RUOAIR)
£AE |#EE AEREAR - iR T EHImt
®5 (%) pronx | wer | amm | mecwk | EEER | guenk | kEMAR | SEER | NER | A#R
LHEEAS ®E-L1T7UMR
R4.8.24| 19 UEA# T R 440H &) 110, 4401  90] 99, '396 0 0 0] 99,396 0 0 0 0 0 0
R4.8.25| 20 |®REFRERNK BAD) 28,990f 501 14,485 0 0 0 0] 0 0 0] 14,495 0 0
R4.8.26) 21 |M&E - &wv FEAHY TAD 8,934] 5Ol 4,467 0 0 0 0 0 0 of 0] 4, 467 0
IR4. 8.29] 22 [zE—#yU—AR (8AM 15,120f 50| 7,560 o| 0 0 0 0 0 0 0| 7.560 0
IR4. 8.30| 23 |[Avoh—FUwUHAR 1,860f 50 930 0 0 0 0 0 0l 0 0 630| 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 oF
0 0 0 0| 0 0 0 0 0 0 0
AR 904, 408 689, 350F 94,092] 25,000 0| 490,978 0 0 12,450 15,838| 15,492] 35, 500'




(RfHE=4)

< B O O
[EHEXR]
SH4E 0B S [ B/ & %]
(Bifr : B
AR EHIE EEWE (EUDOAIR)
wAE |®mu= REWEAE - e i
i %) mEwam | wek | oame | memee | EEER | gamme | eesar | swar | sEn AHR
R4.9.1| 1 |##BELE#AE (A5 E#51.000M x 128508 72:‘000 501 36, 000 0 0 ¢ 0 0 0 0| 36,000
LIRSS REHRENRIL
Re.0.2 2 R m oo | 11000 90| 9,900 0 9900 0 0 0 0 of o
1RG5 3 |av—ham M (BEERS) 2,497 50" 1,248 0 0 ) ] 0 0 1] 1, 248 0
R4.9.9] 4 |=EFAHMARL (FRF2) 1,160 50 580 0 0 0 0 0 h80 0 OJ
LS A B EER
IR4.9.12] 5 |NEBER @9I3X406:8 237,758 75.294| 90f 67,764 0 67, 764 0 0 0 0 0 |
@92%408:8 37, 536_F:]
IR4.9.121 & (HWMEHFHR 9AH) =™ 3,400| 100 3, 400} 0 0 0 0 3,400 0 0 OI
R4.9.12¢ 7 |&BME (A 9AD) 4,000] 100 4, OOOi ] 0 0 0 4, 000 0 0 0'
R4.9.12| 8 [#BAIL (EEHFWMOBS) 3,400] 100 3. 400| 0 0 0 0 3, 400 0 0 0
R4.9.12] 9 [Fw bwHTL I:““/':T:R%ﬂﬁﬂﬁ REEEAT 660 100 . 660' 0 0 0 ) 0 660 0 0 0
R4.9.12| 10 [EU—R4 9HH 134,200 501 67.100] 67,100 0 0 0 0 0 0 0
AV .

Re.9.12| 11 [ARYAR e o sam 18,650, 50| ~9.325 0,325 0 0 0 0 0 0 0

R4.9.12| 12 |HEHEEEFMAN (TBS) 3,834 5H0p 1,917 ] 0 0 0 0 0 1,917 0
MER (REFERELEa—ZD

Re.0.12 13 |[RER  (REEELE s.710| 100| 4710 4710 0 0 0 0 0 0 0

R4.9. 121 14 JEIMEHKE - FAEK BAH) 1,526] 501 163 0 Q - 0 0 I} 763 0 0
RS o0—hiLERERA

|r4.9.20] 15 $ER92, 400/M (&f44E8R ~HFo4E | 69, 3001 100] 69, 300 0 0 0 0] 69,300 0 0 OJ
484

IR4. 9.21| 16 |EHMESRM (9BS) 27,2071 50| 13,603 0 0 0 0 0| 13,603 0 o

|R4. 9.26| 17 |®WEE-+v FEHAH (BAF) 8,984 50 4,492 0 0 0 0| 0 0 4, 4972| 0

|R4. .27 18 |a—#u—X{& QA 15,120 50 7. 560' 0 0 0 0 0 0 1,560 0




(FftE4)

= i & & _
[BEHREX]
+HASE 9o B4 [k A & X]
(Bf7 : D
AR e e ERAR (FEOHI
£AE | BEE RUMLAE - Eif M MR
i (3) HEFAR | THR 2R | REEER | SOOR | waemR | RHBAR [ SEER | wER AR
B 456, 942 300, 722 81,135 0 0 77, 664 0 0| 80,760 14,946 15,217 36,000




(HfE4)

£ H K W
CEI-ES)
SF4%E 1054 [# B % %]
(B6r . M)
SRR EiE EEWE (FFHONR)
#AR |®EE RIFRIGAR - il ek BiZmN
5 (%) MEFER | SR 2N | memsR §gg;: S I ETON SR S S B EPRT
[Re.9.20 1 |wsEe 1,430] 100} 1,430 0 0 0 ol 1,430 0 0 of
|R4.10.3 2 |mEnmsRseS (0B 4 R 1.000M x 6orsRd | 69,000 50 | 34,500 0 0 0 of 0 0 0| 34, 500|
|R4.10.4 3 |lae—nmy Rt @BFERD) 1,430| 50 715 0 0 0 0 0 0 715 o
[re.10.7] 4 |smmmmman rzew 1,160 50 580 0 0 0 0 0 580 0 ol
R, 10.11| 5 [smascmEERE 1084 3,400 100] 3. 400 0 0 0 ol 3,400 0 0 q
Re.10.13| 6 [mBase (B 1084 4 000] 100 4. 000 0 0 0 ol 4,000 0 0 o|
Re.10.11| 7 |wmmare EsEmmI0AL) 3,400| 100 | 3. 400 0 0 0 ol 3,400 0 0 oﬁ
RE10.11| 8 [*w hefiy EURzmmE B 660| 100 660 0| . 0 0 0 660 0 0 0
Re.10.11 9 |Ey—zft 1085 1342001 50 { 67,1008 67,100 0 0 0 0 0 0 0
HY Yt :
R&.10.11| 10 |8/16 5.5%0m  8/19 10,521 37.646| 50 | 18,823 18,823 0 0 0 0 0 0 0
9/3 10, 248M 9/13 11,357M
RA.10. 11| 11 |[MewmsEmmy GRS 3,800| 50 | 1.904 0 0 0 0 0 ol 1,904 0
Ra.10.11| 12 |mse (emmmEE< 8838, 58) | 5.560{ 100] 5,560 5,560 0 0 0 0 0 0 0
RA.8.5| 13 |mmt apmBmEes sA3A. 4m) | 23,060 100 23.069| 23,060 0 0 0 0 0 0 0
Ra.10.11| 14 |&E® GRARRS 8F19E) 5,560 100] 5.560} 5,560 0 0 0 0 0 0 ol
ERE (LSRR S+ —o R = e
R4.8.30| 15 (B Rl e o E) 4,000] 100] 4,000] 4 000 0 0 0 0 0 0 0
R4.10.11| 16 |Szsmikid - FAREE QR 1,526 50 763 ol 0 0 0 0 763 0 of
R. 10, 14| 17 ﬁ?”"'“’“"’ﬁﬁ*’f (R4EFTA~9A 8,400 100| 8. 400 0 0 0 o] 8400 0 0 0
Re.10.21| 18 |EHHBSR (1084 26,133| 50 | 13,066 0 0 0 0 o| 13,066 0 0
R4.10.26) 19 |BEE - v FEAH (9A5 8,959 50 { 4,479 0 0 0 0 Of: o 4 479 0




(HfHE= 4)

O B
& B & W
[BBHEER]
THI4E 105 [#k B & k]
(Bf7: M)
SERE E-2 N WaHE (FELORIR)
%88 |=BE RUSROLIE - thig P ool
Lkl (%) BEARR | FER s | mamwe | EORE | gupmw | wrar | semr [ wsw ABR
R4.10.27( 20 |aE—#g)—R4& (1084 15,1201 50 7, 560 0] ] 0 0 0 0 1, 560 W |
EEFFLE NMKREH (R4/108~
R4. 10.28 21 RE/3543) H. 7.102| 50 3, 551 W) 0 0 0 0 0 3, bb1 ol
R4.10.31| 22 |=NFRHERAL 1.320] 50 660 ¢ 0 0 0 0 0 660 OI
' 0 0 0 0 0 0 0 0 o
0 0 0 0] 0 0 0 0 ]
B 366, 884 213,180] 124, 112 0 0] 0l 21,290] 14,409 18,868 34,500




(At 4)

= B Kk %
CEEEDD)
SH4SE 1175 [#% & & %]
(BA7 : )
SHUREF EHE FRRE (FLEORIR)

£AE |3ma REHBHE - g LT Rz
bl "l e mrEnk | wex | ser | cese | EPEO | eueen | gewag | seer | osEr | e
RA.0.90 1 [Hvuos | 5.0l so| 2.97] 2970 0 0 0 0 0 0 0 0 q
RAIT1| 2 |mMEmRes (A5 oM xramshl | 72,000) 50| 36,000 0 0 0 0 0 0 0 0 0 36,000'
RA. 1.4 3 [WEEARASE (FRFY) 1,160 50| 580 0 0 0 0 0 0 o] 580 0 ol
REATI[ 4 [3E—h% R (10AERSD) 1,490 so| s 0 0 0 0 0 0 0 of 75 ol
RA.1110| 5 (8RR CREZEA 1A% 3, 400| 100] 3,400 0 0 0 0 0 0| 3, 400 0 0 0|
Re1.10| 6 (B (BB HAS 2.000| 100| 4. 000 0 0 0 of o of 4,000 0 0 o
RAILI0| T (SR (HRFEETERNIAS) - 3,400( 100| 3400 0 0 0 0 0 o 3.400 0 0 0
Re.11.10| 8 |®wresos euscmmm mme| 66| 100 6ol 0 0 0 0 0 o| 660 0 0 0
RaIL10| 9 |my—=ge 1A% 134,200 sof 67,100} 67,100 0 0 0 0 0 0 of . o 0

,, 51 A
Rett 10| 10 [BAY e 10.00m 20.567| 50{ 10,283 10,283 0 0 0 0 0 0 0 0 0
RATLTO| 11 |mmmessms OAH) 3.696| 50| 1,848 0 0 0 0 0 0 0 o 1,848 0
BER (FTUEEHRT S S S S ER 1ool -

Retrro] 12 BEEE (REUTEmETES 5. 560[ ‘100 5. 560 0 0 0 0 5,560 0 0 0 0 0
rett g0 13 [BER CIRAORRERIRZ 9B6~7T| 5 530| 100| 5.530| 5,530 0 0 0 0 0 0 0 0 of
Re.9.6) 14 EEHL (MEAOBERERE SRR | 10 6250 100 10.625| 10,625 0 0 0 0 0 0 0 0 0
ra. 11 10f 15 (BRI (REMEEOBAZAR SR8 | 5 5a0 100| 5.560] 5, 560 0 0 0 0 0 0 0 0 of
Re.9.8| 16 |EIL (REMALOBAZAR SBS | g o00 100 9,000 9,000 0 0 0 0 0 0 0 0 0
RATL0| 17 [t GERERS 9R128) 5,560 100] 5.560] 5,560 0 0 0 0 0 0 0 0 0
RA1117| 18 |EBEKE - FARMK QB 1.506| so] 768 0 0 0 0 0 ol o 763 0 0

Al



(R{tHE4)

& B O W
[BHEER]
SH4E 1A [# @ & %]
(Bifs7 - )
i x9% ERRE ELOMIR
£aE |wem RIEHERE - = BEnR
i (3) BEFER | THER s | memms | EERR | weemn | uman | osmEr [ s AR
R4.11.22] 19 |FEFEHBSE (1055}) | 24,734 50F 12,367 0 0 0] 0 ol 12,367 0 0
R4.11.28] 20 [BEE- 2w FEHE OFS) 8,9271 50 4, 463 0 0 0 0 0 0 4, 463| 0
RA.11.28] 21 [arF—#y—R4E (108 ) 15,1201 50 1, 560] 0 0 0] 0 0 0 7. 560 0
At 342, 595 197, 944] 116, 628 0 5, 560 0| 11,460] 13,710 14, 586] 36,000




(FfThkz 4 )

S H K %
CEEELS
SHAE 1254 (B B % %]
(B : A
R BHH ERME (FELHORIR)
£A8 |wnm RBHLENE - i it BRonR
i ) prwsn | ek | swr | mewek | SEOO | wnesr | eemAk | sBER | sER | Asm
E12ELERAEEH R ELBMBREE
Mg 10B5E~6H
Ra.11.16] 1 (JRfLsE « /3R {4 43,160/ 56,610 100] 56,6101 56,610 0 0 ) 0 0 0 0
ra;aﬁ: 12,400/ #9EE3%A 1,050
M
[re.121] 2 ﬁgmmﬁﬁg(“ﬁﬁ’ﬁ*ﬁ‘””"ﬁ”% 74,000 50| 37,000 0 0 0 0 0 0 o| 37.000
IR4.12.2 3 |mEmmARESK (FRF) 1,160 50 580 0 0 0 0 0 580 0 0
lRa.12.2| 4 |smmmavss—toon 5,260 50| 2 630 0 0 0 0 0 o 2 630 0
IRa.12.8] 5 |aE—avy ki (2AKRD 1,430 50 715 0 0 0 0 0 0 715 0
' BETHS, HERR |
IRa.12.8] 6 | (B . oLy hR—si—- gt | s.605| 50| 4. 302 0 0 0 0 0 of 4,302 0
T F4ysaa—k£—#)
Re.12.12| 7 |mmeccemme 1284 3,400 100] 3,400 0 0 0 0| 3,400 0 0| 0
Re.12.12| 8 |wEAm (B 12B4M) 40000 100] 4. 000 0 0 0 0| 4,000 0 0 0
Ra.12.12| 9 |mmre EmHm@IZAS 3,400] 100] 3,400 0 0 0 o| 3,400 0 0 0
Ra. 12.12| 10 j{é"*""”"’" EVHRMMR R oo 100 660 0 0 0 0 660 0 0 0
R4.12.12[ 11 {mEU—%& 12B% 134, 200 EUI 67,1008 67, 100 0 0 0 0 0 0 ol
1Y) A i
R4.12.12( 12 [10/20 9, 2408 10/30 5,640/ 35, 092 501 17.546] 17, 546 0] 0 0 0 0 0 4 |
11/6 11,0848 11/1t 9,128/
Re.12.12| 13 |mssmzmgmn (108 a620] sol 1,810 0 0 0 0 0 0l 1,810 0
SEREEft 108208 ~268 (LA
RA12.12) 14 [ROF—H HE=HRESBROS 28,840| 100] 28,840 0 of 28,840 0 0 0 0 0
) .
maf 108258 (LEEE S+ — ,
Rtz 12| 15 [BEE UADE (RS o300 100] 9,300 0 o 9,300 0 0 0 0 0
RA.12.15| 16 |SBAAE - TAHR 1) 1,526 50 763 0 o| 0 0 0 763 0 0




(HftHEt 4)

= 5 & &
CEJEZD)
SH4E 12849 [ B % %]
(Bi{F - [)
i E Sl . ©OERHA (RLORR
£AE |%mE RistonHE - Eif e i
L {96) FETRRER Tk JE!! ERIEER ggg{; FEeRR | REEAR EHAR R AR
Ra.12.220 17 |EERRATV v 2—1 0K 1,860 50 930 0 0 0 0 0 0 930 0
RA.12.22] 18 |[®BHEBRM (1284 20,7144 50 14,872 0 0 0 0 ol 14,872 0 0
Ra.12.95 19 [MBIBAIRS.(GA~1ZAZ JAH20000 | g9 00| s0f 40,000 0 0 0 0 0 0 0| 40,000
R4,12.26] 20 |BE% -y FEAY (1B 9,014 50} 4,507 0 0 0 0 0 o| 4,507 ol
Re.12.27] 21 |aE—y—=4 (12A5) 15,120| s0f 7,560 0 0 0 0 0 o| 7,560| . of
0 0 0 0 0 0 0 0 q|
0 0 0 0 0 0 0 0 ol
At 506, 841 306, 525| 141, 256 ol 28, 140 o| 11,460] 16,215 22, 454 77, 000]




(FftHRst 4)

= i Ok W

[BEHEE#]
SHISE 1 A4 [k @ % %]

. (#47 - D

e EHE FERRE (FLOHR)
£A8 | w8z RisHENE - g Zthg i

i ) BEFER | FER s | mHmwr | OO0 | Rueak | weuak | spEr | s AR

RA.12.15] 1 IBBESAIP— L 1,534 50 167 0 0 0 0 0 0 0 0 167 OI
R A SR e R

Rtz 27| 2 |BHEIRSE 14,000[ 90| 12,600 of o o| 12,600 0 0 0 0 0 ol
R.12.30| 3 |EHEAAHFRASRMR (FRE) 1,160 50 580 0 0 0 ¢ 0 0 0 580 0 0|

RE.1.5| 4 ;gmmﬁﬁ%m%) FR#&1.000F x778% | 77 goo so| 38,500 0 0 0 0 0 0 0 0 o| 38, 500|
R5.1.58| 5 |®=BATALTHIC 3,800] 50 1, 900 0 0 0 0 0 0 0 1,900 0 OI

R6.1.5| 6 |aF—AaDor & (1HERD) 1,430] 50 115 0 0 0 0 0 0 0 0 15 0

GRS EMRA
RB. 1.5 7 |#&#381,000% 19, 500/M 21,4501 901 19,305 0 0 0] 19,305 0 0 0 0 0 0
(31, 950F)
B oo ,000
, D50 , 0001
RE.1.5| 8§ HEA 16, 05080 88, 275 410, 603] 90| 369, 542 0 0 0| 3689, 542 0 0 0 0 0 0
HEB 37,3280
LHEHIAE BR-LA72RE )
.15 0 R dons) 110,440 90| 99,396 0 0 0| 99,396 0 0 0 0 0 0
R5.1.10| 10 |@wM{c(HEEmM 1B 3, 400 100' 3, 400' 0 0 0 0 ¢ 0 3, 400 0 0 )
R5.1.10] 11 A4t (BE 184) 4,000 TOOI 4, OOOI 0 0 0 0 0 0 4 000 0 0 0
R5.1.10} 12 |#hBAFL (ER5eEBA 1A 9 3,400( 100 3. 400| 0 0 0 0 0 0 3,400 0 t] H |
R5.1.10] 13 | bTHY Y EPRAHERE KR 660| 100 660' 0 0 0 0 0 ] 660 0 0 ol |
R5.1.10| 14 [&YU—R& 1A% 134,200)1 50} 67, 100] 67 100 0 0 0 0 ol - 0 0 0 0
Huu vt

R5.1.10] 15 [11/24 9.617H 12/1 11,550 30,572 ©50fF 15,286] 1b, 286 0 0 0 0 0 0 0 0 0
12/10 9, 405F

R5.1.10| 16 |MHEFFEAY (1AM 3,943 50 1,971 0 0 0 0 0 0 H 0 1, 971 0




(FTHet 4)

= H Ok %
[BHERFEE]
SM5E 1 54 (8% B # £]
(Bifr - M)
i TRR HERME (FLUDARR
=68 |¥n® RN - i HH Rz

w5 (96) mEwER | #eR e | mEtek §gg‘: watoR | maman | smwr | osmr AR
R5.1.10| 17 |B=#m 11H4EBARKRS 5,6560| 100] 5,560| 5,560 0 0 0 0 0 0 0 0
R4 11.8| 18 |momre 11 @sEmBEELEMN 13,770 100] 13.770] 13.770 0 0 0 0 0 0 0 0

[fs-1.10] 19 ﬁji““' NMASEBAREE=EN (1/1~8| 5 seol 100| 5.580] 5.580 0 0 0 0 0 0 0
|R5.1.10 20 [sEr 1RUBRABLS 5,560 100] 5.560] 5. 560 0 0 0 0 0 0 0 ol
[rs. 1. 13| 21 |smsmon - T azas) 1,526| 50 763 0 0 0 0 0 0 763 0 0

GRS E%%

[Rs.1.13| 22 |REE AR a 76, 084 76,084 90| 68, 475 0 o 68,475 0 0 0 0 0 0
[R5.1.16| 23 |ReESe—F L iRERN (ReE10A ~12) 8,400| 100] 8. 400 0 0 0 0 ol 8 400 0 0 ol
|R5.1.23 24 |EHEHERL A 42, 617) 50| 21,308 0 0 0 0 ] 0l 21,308 0 ol
IR5.1.26 %5 B &y FERAH (12859 8,000 50| 4. 450 0 0 0 0 0 0 o| 4 450 q
fRs.1.27] 26 |ae—my—xs (A 15,120] 50| 7,560 0 0 0 0 0 0 ol 7560 ol
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
i 1. 004, 709 780, 548} 112. 856 o 569,318 0 o| 19, 860[- 24,551] 15,463 38,500




(T 4)

& H OB W
CEES)
SHOSE 284 [# @ % Xx)
(BEfs : FO)

REE DR #igRE (FEEONR)
=FE |#um RELBAE - i T il
il {96} BEREFER faid, 3 =R IRTRER ggﬁg WEERER | HHBAR BEAR EHR AR
IR5:1.27] 1 |®mBFEMEASK (FRF) 1,160 50 580| 0 0 0 0 0 580 of o0
Re.2.1| 2 |#mimgBses (1A4) 681,000/ xeapspl| 68,000 50 34.000' 0 0 0 0 0 0 ol 34,000
R5.2.6] 3 [ar—hwmy kit CHE#ERS) 6,265 50| 3,132 0 0 0 0 0 0] 3,132 ol
|R5.2.10 4 |wEIKGREHM 2854 3,400 100 3.400| 0 0 0 0| 3,400 0 0 ol
|R5.2.10 5 |gERae (B 2A4) 4,000 100 4.000' 0 0 0 0| 4,000 0 0 ol
|R5.2.10 6 |HFR (SEEEE 285 3,400| 100 3,4oo| 0 0 0 0| 3 400 0 0 ol
|R5.2.10 7 |y rTH Ty ESHANBE BAf 660| 100 660 0 0 0 0 660 0 0 ol
IR5.2.10 8 |Ey—=f 28% 134,200 50| 67,100 67,100 0 0 0 0 0 0 o|
Huy ok
Ir5.2.10] 9 [12/19 10,168M  12/28 10, 595M 30,603| 50 15.301| 15,301 0 0 0 0 0 0 0
1/12 9,840/

|R5.2.10 10 [igEsmEmme (12849) 3,697 50 1,848 0 0 0 0 0 0| 1,848 0
IR5.2.16 1 |EEmARE - FRER (B 1,526f 50 763 0 0 0 0 0 763 0 0
|R5.2.22 12 |BHEHERR 2AH) 29, 739 5o| 14, 869 0 0 0 0 0| 14,869 0 0
IR5.2.27 13 |®2E - R RMERE (AD) 9,021 sol 4,510 0 0 0 0 0 ol 4,510 0
R5.2.27| 14 |aE—#y—xf 2AD). 15,120 5o| 7,560 0 0 0 0 0 0] 7,560 0
R5.2.27| 15 |®HmASmEmA Y. < LFEE C 2,112 '50F 1,056} 0 0 0 0 0 ol 1,056 0
ol 0 0 0 0 0 0 0 ol
ol 0 0 0 0 o~ 0 0 o|
0| 0 0 0 0 0 0 0 o|
At 312, 903 162, 170] 82, 401 0 0 0| 11,460| 16,2121 18,106 34,000




(BTt 4)

= H K ¥
(BEREE)
FHISE 3 A% [ B # %]
(B /)
FRURE BHE SGEWME (FLUOKRIR)
2A8 |wmE RUMLHE - 58 EHE ok
okl (%) WEHER | wER s | mamen [ FEF | papmw | wnman | wmme | osme | A
R5.3.1] 2 ;j“"mﬁ*%‘”*”ﬁ”"“**%""”m"’“ﬁ 74.000] 50| 37, 000 0 0 0 0 0 0 0 ol 37, 000
R5.3.2| 3 [fuva—byuss 1,058] s0] 970 0 0 0 0 0 0 0 979 0
RE.3.6] 4 |ae—amy ri GAERS 8,789 so| 4 304 0 0 0 0 0 0 0] 4 394 0
R6.3.6| 5 |mmarirae 3,800 5ol 1,900 0 0 0 0 0 o| 1,900 0 0
REGER) L Ai— Vol 36EMER
RG.3. 6| 6 | 3108 0| 2,787 0 of 2797 0 0 0 0 0 0
R5.3.7| 7 |smmaEsmA 16,010 50| 8,005 0 0 0 0 0 0 o| 8005 o|
[rs.3.10 8 |umecormm sAm 3.400] 100| 3, 400] 0 0 0 0 o| 3 400 0 0 ol
|R5.3.10_ 0 |wisie (58 A 4.000) 100] 4.ooo| 0 0 0 0 o 4. 000 0 0 ol
|R5. 3.10] 10 |giBAre (%88 3R 3,400 1oo| 3. 400| 0 0 0 0 o| 3. 400 0 0 oF
|R5.3.10 1 f;“’ RIADL EIRRMER A 660 1oo| 660 0 0 0 0 0 660 0 0 0
[rs.3.10] 12 [mu—=sc 3m% 134,200 5ol 67.100] 67,100 0 0 0 0 0 0 0 0
HU o
Irs.3. 10 13 |1/20 o.8d0m  2/3 8. 748m 37,4250 50l 18,712 18712 0 0 0 0 0 0 0 0
2/10 10,1438  2/14 8. 694F]
R5.3.10| 14 |sewRimme (A% 3,851 50| 1,925 0 0 0 0 0 0 o| 1.925 0
R5.3.10| 15 g"*ﬁ 1858, 78 &=RBBEWRE | ¢ 30| 00| 5.430] 5,430 0 0 0 0 0 0 0 0
RG. 1.5 16 [ 1ASH EXRBIEESEE | 9 000 100] 9.000. 9,000 0 0 0 0 0] 0 0 0
R5.3.10| 17 gﬁ"ﬁ 1R98. 1B &&RBBAE | 5 90| 100 5 100] 5,190 0 0 0 0 0 0 0 0
R5.1.9| 18 ﬁ“"“ 1R98. 108 &=REHBEERBAE 17 700| 100] 17,700] 17,700 0 0 0 0 0 0 0 0
R5.3.10] 19 |mm# 18138 MARLS 5,560 100] 5.560] 5.560 0 0 0 0 0 0 0 q




(gt 4)

o =
= & & %
(BHEER]
SH5E 385 Bk B # %]
(BEGF - M)
i s HERRE (FELORER)
588 |%2m REBENE - (58 L i
i %) meazs | owx | oewn | memesx | E2R% | aneas | eemow | wwen | oser [ oA
R6.3.10] 20 |&=wsk (RE—H—Tw1otvh) 97,100 501 48, 550] 0 0 ¢ ¢ 0 0 0 0] 48,550 0
IRBER LH— Vol I6FRER
R5.3.10] 21 NESHED @84X41E 3. 444/ 3,444 90] 3,099 0 0 0 3,099 0 0 0 0 0 it |
Rb.3.15| 22 |®|FEmrAGH - TARMER (2R 1,526 50' 763 0 0 0 0 0 0 0 163 0 OI
IR5. 3.15] 23 |HMHERAREA (ATrvo0Y) 500 50' 250] 0 0 0 0 0 0 0 0 250 OI
REEE LA— Vol 6ERAR
|R5. 3.15| 24 JNEERER @849 41160 4,116 90] 3.704 0 0 0 3,704 0 0 0 0 0 |
|R5. 37| 25 |1 ush—rUuwSRR 1,860 B0| 830} 0 0 0 0 0 0 0 0 930 Or
RBIER LA — FVol, 680348
IR5. 3.20| 26 NEEMER @84X19E 1, 596/ 1,596 90| 1.436 0 0 0] 1,436 0 0 0 0 0 0
IR5.3.22| 27 |wEHRESL GAS) 30,579] 50| 15, 289] 0 t 0 0 0 0 0| 15,289 0 0
RBUER LR— MVol, 68HA 3R _
R5.3.24] 28 NEBEE @84X5028 42, 168H 42,168]- 90} 37,951 0 0 0l 37,951 0 0 0 0 0 0
RG,3.24| 29 |SHBHAMAKKL (FRFV) 1,160 50‘ 580 0 0 0 0 0 0 0 580 0 0
BHHEREAR
Rb.3.25| 30 i }-::— Ko—h—Ri% FOR W2E) 990 50 495 0 0 0 0 0 0 0 0 495 0
R6.3.271 31 1&EE - v FERAK QA 8,868] 501 4,434 0 0 0 0 0 0 0 0] 4,434 0
R6.3.27 32 [aE—wy—=it GAMD 15,1201 50| 7,560 0 0 0 0 0 0 0 0| 7,560 0
REGES LoR— Mol 3680% 3
RG.3.27| 33 NEIER @BIXIZE 1. 0087 1,008f 90 907 0 0 0 907 0 0 0 0 0 o]
R5.3.28| 34 |MMABSR~IAMAKWR | gy gop| 50} 30, 000] 0 0 0 0 0 0 0 0 o] 30, 000]
R E SR LA — Vol 36ERS %
R5.3.30( 35 [N L 5,628| 0| 5,065 0 0 0| 5065 0 0 0 0 0 of
0] 0 0 0 0 0 0 0 0 0 0
A&t 613, 144 358, 165 128, 692 0 0] 54,959 0 0 11,460] 18,532 77,522} 67,000
Rt 5,939, 620 3,832, 437]1, 293, 204| 25, 000 0]1.249,018[ 43, 700 0] 246, 6401 193, 199| 269, 586] 512,000




